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Aufgabe 7

Teilaufgabe 1

n = 2

A2 =
(

1− p p
1 0

)
det(λ12 −A2) = det

(
λ− 1 + p −p
−1 λ

)
= (λ− 1 + p)λ− (−1)(−p) = λ2 − λ(1− p)− p

λ1 = 1
λ2 = −p

n = 3

A3 =

 1− p p 0
1− p 0 p
1 0 0


det(λ13−A3) = det

 λ− 1 + p −p 0
−1 + p λ −p
−1 0 λ

 = (λ−1+p)λ2+(−p)2(−1)−λ(−1+p)(−p) = λ3−(1−p)λ2−p(1−p)λ−p2

λ1 = 1

λ2 = −p

(
1
2

+
√

3
2
i

)

λ3 = −p

(
1
2
−
√

3
2
i

)

n = 4

A4 =


1− p p 0 0
1− p 0 p 0
1− p 0 0 p
1 0 0 0



det(λ14−A4) = det


λ− 1 + p −p 0 0
−1 + p λ −p 0
−1 + p 0 λ −p
−1 0 0 λ

 = (λ−1−p)det

 λ −p 0
0 λ −p
0 0 λ

−(−p)det

 −1 + p −p 0
−1 + p λ −p
−1 0 λ


= (λ−1+p)λ3+p

[
(−1 + p)λ2 + (−p)2(−1)− λ(−1 + p)(−p)

]
= λ4+(−1+p)λ3+p(−1+p)λ2+p2(1−p)λ−p2

λ1 = 1
λ2 = −p
λ3 = pi

λ4 = −pi

Teilaufgabe 2

Ak =



1− p p 0 0 · · · 0
1− p 0 p 0 0
1− p 0 0 p 0
...

. . .
...

1− p 0 0 0 · · · p
1 0 0 0 · · · 0


1
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Induktionsanfang: k = 2

χ2,p = (λ− 1)
λ2 − p2

λ− p
= (λ− 1)

(λ+ p)(λ− p)
λ− p

= (λ− 1)(λ+ p)

Stimmt, vgl. Teilaufgabe 1.

Induktionsbehauptung:

χk−1,p = (λ− 1)
λk−1 − pk−1

λ− p

Induktionsschritt:

χk,p = det(λ1k −Ak) = det



λ− 1 + p −p 0 0 · · · 0
−1 + p λ −p 0 0
−1 + p 0 λ −p 0
...

. . .
...

−1 + p 0 0 0 · · · −p
−1 0 0 0 · · · λ


Addiere zweite auf die erste Spalte

= det



λ− 1 −p 0 0 · · · 0
λ− 1 + p λ −p 0 0
−1 + p 0 λ −p 0
...

. . .
...

−1 + p 0 0 0 · · · −p
−1 0 0 0 · · · λ


Nach der 1. Zeile entwickeln

= (λ− 1)λk−1 − (−p)χk−1,p

Induktionsannahme einsetzen

= (λ− 1)λk−1 + p

[
(λ− 1)

λk−1 − pk−1

λ− p

]
= (λ− 1)

[
λk − pλk−1

λ− p
+
pλk−1 − pk

λ− p

]
= (λ− 1)

λk − pk

λ− p

2


